Economics 101

Fall 2004

Answers to Practice Questions #9 
1. F—Consumers with higher willingness-to-pay (WTP) pay more for their units than to do consumers with lower WTP.  The monopolist also captures the entire consumer surplus under first-degree price discrimination, leading to an efficient (but inequitable!) allocation.
2. C—“Two for $10, three for $15!!!” means that consumers pay $5 per unit whether they buy two or three units, which does not show any type of price discrimination at all. 
3. (i) Q=10-P for P>5; Q=15-2P for P<=5

    (ii) MR=7.5-Q; Q=7.5, P=3.75, Profit=28.125
    (iii) For men, Q=5, P=5, Profit=25; for women, Q=2.5, P=2.5, Profit=6.25

    (iv) Profit w/ discrimination is 25+6.25=31.25 > 28.125 (profit w/ no discrimination)  

In the real world, men and women might be able to resell the good to each other, forcing the monopolist to charge the same price to both groups.
4. L=4 for the firm.  As a side note, notice that a total of 16 units of labor are hired in equilibrium, so if firms are identical, there are 4 firms total in the output market. To see this first find the equilibrium wage rate in the labor market:

Labor Demand = Labor Supply


20 – W = 4W


20 = 5W


$4 = equilibrium wage = W

Then calculate the firm’s marginal revenue product (MRP = P * MPL).  This can be done in a table:

	Labor (L)
	MPL
	MRP

	1
	8
	16

	2
	6
	12

	3
	4
	8

	4
	2
	4


So, then equate the equilibrium wage to the MRP (the firm will hire additional labor up to that point where the additional cost of that labor, the wage rate, is equal to the addition to total revenue from hiring an additional unit of labor, the MRP).

5. F—In labor market equilibrium, the last unit of labor hired is paid its marginal revenue product as a wage (if the labor market is perfectly competitive).  Furthermore, a decreasing marginal product of labor means firms’ labor demand curves are downward sloping everywhere, so every unit of labor up to the last unit hired has a higher marginal revenue product than the wage it is paid.
6. (i) P=12; Total profit=64; Individual profit=32
    (ii) P=11; A’s profit=63; B’s profit=0; Yes, A has the incentive to cheat

    (iii) 
	
	Firm B

	Firm A
	
	Collude (P=12)
	Cheat (P=11)

	
	Collude (P=12)


	32, 32
	0, 63

	
	Cheat (P=11)
	63, 0
	31.50,31.50


 (Cheat, Cheat) is the equilibrium in this game.   
(iv) P=MC=4 (and since P=MC=AC, firms earn no profit in equilibrium)

7. (i)
	
	Firm 2

	Firm 1
	
	Advertise
	Don’t advertise

	
	Advertise


	25K, 27K
	25K, 30K

	
	Don’t advertise
	26K, 27K
	20K, 20K


    (ii) (Advertise, Don’t advertise) and (Don’t advertise, Advertise) are both equilibria.
